Al
2 Homework 1 (due Sept. 3) Name: SolvTloN S

The purpose of this homework is to illustrate the variety of situations that can be modelled
with a linear objective functions and linear constraint. [It’s implicit in all the questions that
“formulate mathematically” means “formulate as the problem of maximizing/minimizing a
linear objective function, subject to a collection of linear constraints on the variables”]

Reading: Sections 1.1 1.2 and 1.4 (first half of page), and 2.1, 2.2, 2.3, 2.4 and 2.6.

1. Problem set 2.2, question 7 (page 18)

e part (a) [note that you are required both to set up and solve the problem]
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e part (b)
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2. Problem set 2.2, question 14 (page 20) [Be careful! If you find that using 0 of each
product is feasible, you haven’t set the problem up correctly! Also, note that this
question only requires you to set up the problem]
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3. Problem set 2.3, question 10 (page 28) [note that you are required both to set up and
solve the problem]
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4. Problem set 2.3, question 15 (page 30) [note that you are required only to set up the

problem]|
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5. Problem set 2.4, question 4 (page 37) [note that you are required only to set up the
problem]
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6. Problem set 2.4, question 7 (page 38) |note that you are required only to set up the
problem]
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7. Extra credit problem! Set up (just set up) the two problems concerning queens
on a chessboard (from the handout on August 27, also on the website) as problems of
optimizing some linear function of some variables, subject to some linear constraints
(and perhaps some constraints to say that some variables are integers). So that things
don’t get ridiculously out-of-hand, just do the problems for a 3-by-3 chessboard.
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